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POLITICAL SCIENCE
PAPER —II

Note: This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  According to Aristotle, the best constitution should adopt the principle of :

(A) Stability (B) Mean
(C©) Extreme (D) Perfection
2. According to John Locke one of the following is not a natural right :
(A) Property (B) Life
(©) Liberty (D) Work

3. Who wrote that the state is “perfected rationality” ?
(A) T.H. Green (B) J.J. Rousseau
(C©) Hegel (D) Karl Marx

4.  Gandhian concept of Satyagraha is a :
(A) Political weapon (B) Social weapon

(©) Legal weapon (D) Moral weapon

5.  B.R. Ambedkar found solace in the teachings of :

(A) Manu (B) Vedas
(©) Buddha (D) Upnishads
6.  One of the following kinds of liberty is not acceptable in a modern State :
(A) Natural liberty (B) Civil liberty
(C) Political liberty (D) Economic liberty
7. Match the following, form the correct pairs :
List I List II
a. J.S. Mill 1. The social contract
b.  Jeremy Bentham 2. Two Treatises on Civil Government
c.  John Locke 3. Anintroduction to the Principles of Morals and
Legislation
d. ].J. Rousseau 4, Representative Government
Code:
a b c d
(A) 2 4 1 3
(B) 4 2 1 3
© 4 3 2 1
(D) 3 4 2 1
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10.

11.

12.

13.

Behaviorism is an attack upon :
(A) Systematic theory (B) Veridical Knowledge
(©) Normative theory (D) Positivism

Match List I (concept) with List II (thinker) and give the answer by using the codes given
below :

List I (concept) List II (thinker)

a.  Post-Behaviorism 1.  Hegel
b.  Utilitarianism 2. Mao Tse-tung
C. Idea of Contradictions 3. Bentham
d.  Dialectical Idealism 4, David Easton
Code:

a b C d
(A) 4 1 3 2
(B) 4 3 2 1
© 3 1 4 2
(D) 2 3 1 4

Which one of the following is not a component of Easton’s definition of a political
system ?

(A) allocation of values

(B) allocations as authoritative

(C) authoritative allocations as binding on the society

(D) allocations of values to be found in all independent societies

According to Almond and Powell, the capabilities of a political system are :

1.  Administrative 2. Regulative
3. Extractive 4. Distributive
(A) 1,2and3 (B) 2,3and4
(©) 1,3and 4 (D) 1,2,3and 4

According to Lucian Pye, the key elements of political development are :
(A) Equality, Capacity and Differentiation

(B) Urbanisation, Industrialisation and Participation

(C) Political Unification, Industrialisation and National Welfare

(

D) Integration, Participation and Distribution

Who among the following believes that corruption is inseparable from modernization ?
(A) Rostow (B) Huntington
(©) Rudolph and Rudolph (D) Apter
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14.

15.

16.

17.

18.

19.

Match List I with List II and select the correct answer using the codes given below :

List I List II
a.  Theory of Masses 1.  Pareto
b.  Iron Law of Oligarchy 2. Michels
c.  Circulation of elites 3.  Ortega Gasset
d. Power elite 4.  Mills
Code :

a b c d

(A) 3 2 1 4
(B) 2 1 4 3
© 4 2 3 1
(D) 1 3 4 2

A Constitutional Government stands for :

(A) a government with a Constitution

(B) a government run by people’s representatives

(C) a government run by the people’s representatives with the help of bureaucracy
(D) alimited Government

Who among the following made a systematic study of pressure groups in the first decade
of the twentieth century ?

(A) David Truman (B) Arthur Bentley
(©) Duverger (D) LaPalombara

Which one of the following is not an essential feature of the parliamentary form of
Government ?

(A) Collective responsibility (B) Fixed tenure
(©) Nominal head of the State (D) Fusion of the Executive and Legislature

The “due process of law’ is the characteristic of the judicial system of :
(A) India (B) US.A.
(©) France (D) UK.

Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Presidential Government is more suitable than Parliamentary
Government for meeting crisis

Reason (R) : All executive powers rest in the President

In the context of the above two statements which one of the following is correct ?

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(©) (A)is true but (R) is false

(D) (A) is false but (R) is true
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20. Which one of the following amendments has added the word ‘Secular’ to the Preamble
of Indian Constitution ?

(A) 44th Amendment (B) 43rd Amendment
(©) 42nd Amendment (D) 45th Amendment

21. The guardian of the Indian Constitution is :
(A) The President of India
(B) The Parliament
(C) The Prime Minister and the Council of Ministers
(D) The Supreme Court of India

22.  In which chapter of the Indian Constitution there is a mention of uniform civil code ?
(A) Preamble (B) Directive Principles of State Policy
(C©) Fundamental Duties (D)  Judiciary

23. The Lok Sabha was first constituted in :
(A) 1947 (B) 1950
(©) 1952 (D) 1951

24. Under which article of the Indian Constitution can Parliament legislate on any subject in
the State list ?

(A) Article 229 (B) Article 239
(C) Article 249 (D) Article 259

25.  Who was the first Vice-President of India ?
(A) Dr. Rajendra Prasad (B) Dr.S. Radhakrishnan
(©) Dr. Zakir Hussian (D) V.V.Giri

26. Which among the following is not the right of the Attorney General for India ?
(A) Right to speak in Rajya Sabha (B) Right to speak in Lok Sabha
(©) Right to vote in Parliament (D) Right to audience in all Courts

27.  Which one of the following subjects is not included in the Union List ?
(A) Defence (B) Banking
(C) Insurance (D) Public Order

28. The first Finance Commission was constituted in :
(A) 1951 (B) 1962
(©) 1947 (D) 1952

D —0204 8
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29.

30.

31.

32.

33.

34.

35.

36.

37.

The Anti-Defection Law was enacted in :
(A) 1985 (B) 1983
(©) 1980 (D) 1982

Who is regarded as an exponent of ecological approach in the study of Public
Administration ?

(A) Charles Merriam (B) Fred Riggs
(©) Lucian Pye (D) Elton Mayo

The New Public Administration lays emphasis on :
(A) Excellence (B)  Scientific analysis and ethical values

(C) Scientific analysis and relevance (D) Ethical values and relevance

Hawthorne experiments were conducted during :
(A) 1927-32 (B) 1932-37
(©) 1922-26 (D) 1942 -47

Informal organisation is generally :
(A) Rigid (B) Flexible
(C) Hierarchical (D) Written

Which school has laid down ‘seven proverbs’ in the field of Public Administration?
(A) Classical (B) Behavioural
(C) Ecological (D)  Scientific

The principle of the span of control has been elaborated by :
(A) Graicunas (B) H.Simon
(C) Peter Blau (D) L.D. White

To implement any new programme in administration, the first essential requirement is :
(A) Personnel (B) Organization
(©) Recruitment (D) Training

The initial idea of recruitment based on merit can be traced to the :
(A) Lee Commission (B) Maxwell Committee

(©) Macaulay Committee (D) Appleby Report

D —0204 10
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38.

39.

40.

41.

42,

43.

Match the following, form the correct pairs :

List I List II

a. Lord Hewart 1. The Functions of the Executive
b.  Ordway Tead 2. Ideas and Issues in Public Administration
c.  Dwight Waldo 3. The new Despotism
d. Barnard 4, The Art of Administration
Code:

a b C d
(A) 4 2 1 3
(B) 3 4 2 1
© 3 2 1 4
(D) 4 1 3 2

The creation of the institution of Lok Pal was first recommended by :
(A) Shah Commission (B) National Police Commission

(C©) Santhanam Committee (D) Administrative Reforms Commission

Given below are two statements, one labelled as Assertion (A) and the other as Reason
(R):

Assertion (A) : Collective Security is a mirage

Reason (R) : Nations are guided by self interest

In the context of the above two statements which one of the following is correct ?

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(©) (A)is true but (R) is false

(D) (A) is false but (R) is true

Alliances are essential components of :
(A) Balance of power (B)  Collective Security System
(C) UN'’s peace keeping operations (D) Multilateral Agreements

The author of the Anarchical State is :
(A) Martin Wight (B) Hedley Bull
(C) Joseph Nye (D) James Rosenav

WTO (World Trade Organisation) makes an attempt to regulate :
(A) Trade and Tariff (B) Monetary System

(C) Global economic interaction (D) Balance of payment
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44. Green Peace Movement has played a significant role in the field of :
(A) Regulating Sea routes (B) Refugees settlement

(C) Water Management (D) Environment protection

45.  Which one of the following statements is not correct ?
(A) International Law is binding on all States
(B) Itis binding on a few States
(C) Itis binding on warring States
(D) Itis not binding

46. Which one of the following countries has proposed No War Treaty to India ?
(A) Russia (B) China
(C) Pakistan (D) USA

47. Realists regard the international system as :
(A) Non-functional (B) Co-operative
(©) Anarchic (D) Ideal

48. At the SAARC conference in Islamabad (2004) it was agreed upon :
(A) Regional trading bloc (B) Economic Union in South Asia

(C) Protectionism in Trade (D) Free Trade area in South Asia
49. From among the following, India is not a member of :

(A) UNO (B) SAARC

© WTO (D) ASEAN

50. Plato’s Republic demonstrates that democratic form of Government is essentially :

(A) Good (B) Bad
(©) Best (D) Ideal
-00o0-
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